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I. /

 8 × 1 = 8 

1. n na
n

324   2  

 (A) 18 (B) 15 

 (C) 0 (D) 2 

2. 2x + 3y – 9 = 0    4x + 6y – 18 = 0  

 (A) (B)  

 (C)  (D)  

3.  

 (A)  (B)  

 (C)  (D)  

4. 49   

 (A) 7   (B) 9   

 (C) 14   (D) 49   

5. 30. 

 

 (A) x ( x + 2 ) = 30 (B) x ( x – 2 ) = 30 

 (C) x ( x – 3 ) = 30 (D) x ( x + 1 ) = 30 

6. a  b ( a, b ) ×  ( a, b ) 

 

 (A) a + b  (B) a – b  

 (C) a × b  (D) a  b 
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7. cos 48º – sin 42º  

 (A) 0 (B) 
4

1
 

 (C) 
2

1
 (D) 1 

8. P ( A ) = 0·05 )( AP   

 (A) 0·59 (B) 0·95 

 (C) 1 (D) 1·05 

II.  6 × 1 = 6 

9. 

 

 

10. 17 = 6 × 2 + 5 a = bq + r 

 

11. P ( x ) = 32 x   

12. P ( x ) = 52 32  xx   

13. 0342 2  xx   

14.  
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III.  

 15. 2 + 7 + 12 + .... 20

 2 

 16.  ABC   AD  BC    CDBDAD 2  

222 )( CDBDACAB    2 

 

 17.  ABC  DE || BC. AD = 5  BD = 7 AC = 18 

AE  2 

 

 

  PQ || RS  POQ ~  SOR  
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 18.  2 

   x + y  =  5 

   2x – 3y  =  5 

 19. ABCD 14 

A, B, C D 

 2 

 

 20. 4 60º 

 2 

 21. A ( 4,  – 3 )  B ( 8, 5 ) 3 : 1 

 2 

 22. 53    2 

 23. P ( x ) = cbxax 2
  – 3 

2 b + c = 5a  2 
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 24. 523)( 23  xxxxP  g ( x ) = 122  xx  

 2 

 25. 0352 2  xx   2 

 26. 

147 

 2 

 27. sin  = 
13

12
 cos   tan   2 

 

  1tan3         sin 3 + cos 2  

 28. 












cos1

cos1
 = ( cosec  + cot  )2   2 

 29. 1 6 

10  2 

 30. 15 

8 63 

 2 

IV.  

 31.  3 
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  O PQ RS 

C

AB, PQ A RS B

AOB  =  90º  

 

 32.  3 

  ( ) f
 i
   

1 — 4 6 

4 — 7 30 

7 — 10 40 

10 — 13 16 

13 — 16 4 

16 — 19 4 

     
i

f   =  100 
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  ( ) f
 i
   

10 — 25 2 

25 — 40 3 

40 — 55 7 

55 — 70 6 

70 — 85 6 

85 — 100 6 

     
i

f   =  30 

 33. 35 

 3 

  

38  0 

40  3 

42  5 

44  9 

46  14 

48  28 

50  32 

52  35 
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 34. 7 2 4 12 4

3 2  3 

 

  3 4

3 4

14  

 35. A ( – 3,  2 ),  B ( – 1,  – 4 )  C ( 5,  2 )  ABC 

M N AB AC 2 MN = BC 

 3 

 

  A ( – 5,  – 1 ),  B ( 3,  – 5 )  C ( 5,  2 ) 

ABC

4  

 36. 5  6 7 

5

7
  3 
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V.  

 37.  4 

   2x + y  =  6 

   2x – y  =  2 

 38. 4 9 

 4 

 39. 

7 

20 3 

1 20 

 4 
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  14 

7  

 40. 

 4 
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